' Find the surface area of the fngures below. Show all work, mcludrng forrnula Use 3.14 for 7T ROU"d o
| llﬁ.ﬂﬁamt_tmtb when necessary. Label your final answers with units.

e

~T™ Name: Ki o

Date: Period_______

Math 7 Unit 11 3D Review

| 4. A4 “dh + 248
— v L[5, ’,(;, o,’t.)l J+ AlS ,(u .
| - vf 'H 31+ w-; N
6 km s
Xe 57 km
3.

() seeancd, 1y

414.5‘;]

5 :

7Y(j f---——h“

5 — * \_‘3
~ m =03, Hl(‘)*uyﬁxb)j) 5yd n . R
2%k 08+i?3 N i

2.
3in. ;;_ -

8.in.

f"“lbh
4Y\d ;‘A‘-:j’gkqj=”“2:3

]

101t

11“}):'4“»

2+ A= (Xi)=552=1p
el ¥ 0‘&)10) = A0
o {L‘MXZD): 2"!3
D’(}o{:o): 1oo

6. In this prism, the area of each hexagonal base is
415 cm?. Each rectangle in the prism is congruent.
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A pool that has a length of 50 feet and width of
35 feet will be painted. The depth of the pool is 4
| feet throughout. If you are going to paint the
| bottom and sides of the pool, what is the total
number of square feet to be painted?
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[ 8. You want to paint(twojewelry boxes. BOTh. are
inches long, 10.inches
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rectangular prisms and are

wide, and 4 inches tall. If paint costs $0.02 per

square inch, what is the total cost to paint both
boxes?

9. Find the surface area of a prism where the bagse is,
a square with sides of 11 meters and the height of
the prism is 17 meters.
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width is 5 cm, and the surface area is 644.8 cm.

10. In a rectangular prism, the height is 13 cm, the

Find the length of the prism.
SA= 2dw+wh+2dh
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12. How much aluminum is neeﬁea To make a can

11. Find the lateral area of the cylinder below.
d=3b M= 1% SRz 2% %+ 2¥rh

m 2(3.m)18)* + 2(3 1K Xz

034,72 + 2710
25 cm
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with no top if the diameter of the can is 40 cm and
the hei i ?
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13. What shape is the cross section?

14. What shape is the cross section?
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1d the volume Ef the figures below. g&:ﬂ work, including formula. Use 3.14 for 7T . Round to the tne
earest tenth when necessary, L

> abel your final answers with units. PR
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20. In this prism, the area of each hexc;—gonal base
is 41.5 cm2. Each rectangle in the prism is

congruent.
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21, R 22. The figure below is a cube.
AN IS =
o sl e , 3 | [55em=zp V(E.5)
Y A Vs %(3.110(1) e 7 ,:. m—
\\/ - ’t’"b.“‘l Mjg
iiai® "4 3'43.)‘4)(8) = S 52w
ded o2 V+[33.5 o]

Scanned with CamScanner



T —_— )
A rectangular prism with o volume of 52.2cm3 ' 24. The following triangular prism is @ model of the ‘

: 3+ . : had
nas a!\jigbjun, and a length of 5.8 cm. Find pillow that Susie made in Life Skills. She only ha
the width of the prism. =23 em Fin | enough stuffing to fill one-third of the pillow. How
| many more cubic ce:n_tim‘e;rg["sn of ;J!fﬁ.’.‘g.d?.‘.’:.s__s.yﬂe
v o s 3_}_ V= L sh need to finish filling the pillow?
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27. There are 231 cubic inches in one gallon. A 28. A water-filled aquarium in the shape of a
cylindrical can has a diameter of 10 inches and a rectangular prism has a length of 54.95 inches, a
height of 15 inches. To the nearest tenth, how many width of 16 inches, and a height of 50 inches. You
gallons does the cgn hold? use a cylindrical cup that has a radius of 10 inches
&3 2 and a height of 7 inches to fill up the aquarium.
@h" I5 V=Bh Bs7Xr 9, How many full cups are needed to completely fill
dslo Vs '7?-5(5) » (,3-NX5) the aquarium? reio "é
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